Question: -

Ina AXYZ, let x, y, zbe the lengths of sides opposite

to the angles X,Y, Z respectively and 2s=x + y + z.
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and area of incircle of the

(a) area of the AXYZ is 66
(b) the radius of circumcircle of the AXYZ is %«/ﬁ
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Solution: -

Given a AXYZ, where 2s=x+y+z

and S—X_S-y_8-2
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_3s—(x+ y+ z)_f
4+3+2 9
or s_x=s_y=s_2=§=k(let)
4 3 2 9
= $=9A,8s=4A+x,8=3L+ Y
and s$s=2A+2z2
A $=9A, x=5A, y=6A, z=TA
Now, A=s(s=x)(s— y)(s—2)

[Heron’s formula]
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(a) AXYZ =6/6)% =66
~. Option (a) is correct.
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(b) Radius of circumcircle (R) = J— A= $
. Option (b) is incorrect.
(¢) Since, r=4Rsin E-sin Z-sin g
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. Option (c) is correct.
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. Option (d) is correct.



